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1. The following ANOWA table is obtained for 3. Y, ¥, ¥y and ¥; are independent

a two-variable linear regression ! with

EfYy) = ElYg) =py + 1y

Source off Legrees of Sum of

Lariatiane freedam SGUOFEs
E{Y3)= E(Y3) =My + U3

Regression | 122-5

Residual 3 77-5 Var (Y;] = a?;i=12 3,4
Total - 2000

the condition of estimability of the
parametric function Ly, + Iy + 3y is
The cormelation between the regréssor

and the regressand 18

fa) 0.3873
_ fc) Ta=i 41z
fb) 0:6125
fej 0. 6225
{d) 0. 7826

4. Let y; follow

Nie + By, 92]; il .3 .0
2. Ina2-way ANOVAwith 6 rows, 5 eolumns
and 3 observations per cell, what are v 4 N
the degrees of freedem for the sum of Let (@, P) and fa, P be the least squares
squares for inferaction and  error and maximum likelihood estimates of
' {, B) respectively. Then which one of

respectively? ’ .
e y the following is correct?

fa) 20 and 60 B wus Bub
(b} 30 and 50 (b) G@=c&, fep
fef 20 and 40 . (el ﬁ:ﬁ,ﬁ:é
{d) 15 and 65 (d} &=, f=ponlywheno? is known
STT-D-DFHH/T2-A 2
2
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5. Ina muluple inear regression model with 7. In the Gauss-Markov model ¥ = Xp+&,
5 regressors and 25 abservations, the which of the following assumptions are
sum of squares due Lo regressors was made?

360 and the sum of squares due to

crrors was 128. For this model, consider 1. Xisamatrix of full rank

the following statements ; 2. E(g=0

1. Almost V4% of the total vanation 3. Var [g]= a1
in th odel 1 i .
o AR e eapined Ty the Select the correct answer using the code
regressors.

given below,
2. The cstimated value of the errar
variance of the model ig 345 - M
(b)] @ and 3 only
Which of the above statements. is/are
correct? fo) 1 and 3 only

fed) 1, 2. and 3
fu) 1 only
8. An experiment was conducted to study
the wvariation in fuel consumption of
diesel * wehicles.” For this purpose,
different types of fuel injectors (A) and
) Neitfler demoll2 different gualities of fuel (B) were
assigned randemly to the same type of
diesel vehicles, The analysis of variance

b} 2 only

fc) Both/1 and 2

6. In the [llowing, the Gauss-Markey table of the random effect model is given
model is stated as Y=Xf+¢ and X~ below :
denotes the geinverse of the matrix X: ANOVA Table
1, XX X=X Sot Degrees of Snmof_'
e freedom squUares
2. FXisnon-singilar, then X =X! A 4 48
3
3. X is needed when the columns of 5 BH L
X are linearly dependent —0XZ . %
~ Error ] =
Which of the above i1s/are correct? Total 50 380
The estimate of component of variance
fa) 1 anly due to interaction ﬁfwj is
b} 2 only fa) 1
t 1.and omnl - % b
s BT on
4 ) s
fd) 1,2 and 3 fd} B
STT-D-DFHH/72-A 3 [P.T.O.
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9. Consider the following two maodels with 11. Let n independent random variablies
E{e) =0 and Var (g} = ¢*1 : Y, g, . Uy be normally distributed
with constant and unknown variance
Model A: Y=XB +¢ o® and
Model B: ¥ =X{B +X,p, +2 Eiyr":gﬁjxsji Xip = 1

foralli=1,2,3,..,n
Which one of the following is correct?
The distribution of the test statistic for

tezting the hypothesis
fal R? =R2 s s
Hﬁl:ﬁl :ﬁ:! T...‘Tﬂp =0
2 2
fb) R, <Ry
1%
2 2
fe) R; zRp
(@ tinSgy
fd) R? 2 R
AT EN ®] Flpyn-ps)
e R ]
10. Consider a model ¥ =X$+¢, where ¥ e} Fip-1, n bl
is nxl, X 15s nxp and f§ is px1, )t
Let H=X(X'X) X’ Which of the p-l

following are correct?

1. [, - H) is.svmmetric

12. The following information is given for a
2: (I - Higs danpglent two-variahle regression model that was
3. (I, -HX=0 run on 22 absegrvations :
4. (I, —H]R#ﬂ Ei&_],i = 500, E'[}I‘ i]j = 125, 7}93'0'5

Select the correct answer using the code

given below. The estimate of error variance will be
given by

fa] 1,2 and 4 @ 1-20

fb) 2 and 3 only (b} 1-44

fe} 1, 2 and 3 fe} 9.00

fd} 1 and 3 only ) 1600

STT-D-DFHH/T2-A 4
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13. The main advantage of having more than 16. Consider the model E{y)=2p; +B,;,
:?qcnh?:a.crv&tmn per cell in two-way Ely;) =B, -B; and E(y;)=B; +«p,
i with Viy)=0? for all i=1,2,3 and
1. increased degrees of freedom for Cov 1, !l'j’ =0 for all i j. The value
o of & so that the best linear unbiased
2. testing significance of interaction estimators of i} and fi; are uncorrelated
effect is
Which of the above is/are correct? fa) 0
fa) 1 only (b 2
(b} 2 only fc) -2
jc) Both 1 and 2 fd) -1

(@) Nexther Lgfior 16. To estimate B in _general linear model

Yo = X5 0Byl *€,4), which one of

the following assumptions is essential?
14. For a one-way ANOVA in k classes, cach

with n pbservations, consider the fal E(g) =0
following ;

b EE | = 2
1. Least significant difference (6] E(e)=o"k,

rzumsmﬂ fel p(X)= k
TR L :
(d) ¢ follows N(O, o°L,)
2. Schelle's ertical differcnce
17; Test for the significance of complete

‘2 x MSE AT, 4
= ,“f —— X (K= 1% Fly o - i Tegression 1s equivalent to

(aj test dfor the significance of

indivi : i i
Which of the above isfare correct? HIL TR easion occiune

(b) test for the equality between two

jal 1 only regression coefficients
(b} 2 only {c}  test for the significance of multiple
determination

) Both 1 and 2
{d} test for the regression coefficient
fd} MNeither 1 nor 2 equal to some given valoe

STT-D-DFHH/T2-A =] [P.T.0,
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18, The included explanalory variable in the 21. The following table gives the observed
linear model is irrelevant if frequencies for the four blood groups
along with  expected frequencics

fa} the estimate of the rTegression aceording to a model ;

coellicient of explanatory variable 1s

| than one
e e Blood group| O | A | B | AB
i) the estimate of the regression Obzersed 17|22 | 15 | 6
coeflicient of explanatory variable is | Expected ML 14 |26 {12 | 8 |
greater than one o
(c/ the caleulated t-statistic of the What is the comected value of
regressionn  coefficient  of _expla- chi-square statistic after applying Yaies'
natory variable is greaisr than one correction for continuity?

{d) the caleulated (-statistic  of the
regression  eoeflicient. of expla- fa) © 2 ABT74
natory variable is [ess than one

fb) 2.2378
19. The estimate of error variance in two- . ¥
variable linear model is fel 45272
) = (d) 27590
n-2
() ol 22. Which of the following are cerrect for a
n-8 test of significance?
e'e _
(e 2-n 1, _Size = 1= P (Type-1 error)
fd) ce’ 2. Power = 1=P (Type-ll error)
Lr o
" 3. Power = P (T¥pe-1l errorf
20. For the linear hypothesis 4, Size'= P [Type-1 error)

Ho : Rk Pratys T Select the €orrect answer using the code

which one of the following represents given below.
coefficients of linear restrictions on
parameters involved in the model?

fa) 1 and 2

. R

& fb) 3 and 4

o B

- fe) 1 and 3

fdl Kk fd] 2 and 4
STT-D-DFHH/72-A 6
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, X, 18 a random
sample of size n from N, 51]. where U

15 known and we define
T=k ¥ 1% -ul
=1

then [or what value of £ wall T be an
unbiased cstimator of o?

) 1-25n

(b} 0O-8n

1_-;25

n

(d) 0-8
n

fc)

24. The sample values are drawn from a

population ‘with_p.df fix) = (1+ 8"}
D<x<] B8>0 and are 0-3, 0.4, 055
0-6 0-7, 0:8 and 0-9. The estimate of 8
by the method of moments is

fa) -4
() 0-5
fe} 0D-6
fd) 07

25. Consider a populatien with three kinds

of indwiduals labelled 1, 2 and 3
occurting in the Hardyv-Weinberg pro-
portions pil, 8 = 8%, (2, 8) = 26(1-6)
and p(3, 8)=(1-8)%, where D<8 <1L'If
we observe a sample of three individuals

and obtain x; =], x5, »2 and x5 =1,
then MLE of B is given by

1 ; i

2 5

: g =2

=] 3 fd) 5
STT=D=DFHH fT2-A&

26. Consider the following statements :

1. The signed-rank test is a non-
parametric analogue for the paired
t-test.

2. The Behrens-Fisher problem has
no exact sclution.

3. The Mann-Whitney test iz a non-
parametric two-sample test.

Which of the above statements are
correct?

fa) 1 and 2 only
{b) "2 and 3 only
fej 1 and 3 only

fef) 1,2 and 3

27. Comsider the following statements :

1. Ecbusiness of atest means relative
insensitivity 1o violation  of
assumptions,

2, t-test should not be used for
‘sample size 10 if the distnbution is
clearly skewed,

3. _For zample size 100, t-test can be
usad even if the distrnibution is
non-normal.

Which of the above statements is/are
correct?

fa} 2 and 3 only
fb} 1 only
fel 1 and 2 only

{dl 1,2 and 3

[P.T. O,
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28. If T is an unbiased estimator for B, then 31. Let X;, X5, X5, ..., X, be iid. random
T? is variables with E(X,) = 8. Then for what
value of & will

fal unbiased estimator for 8¢
n
kY ixX,
iwl

T i+ )

(b} biased estimator for 82

fel unbiased estimator for B2 + 1)

(d) biased estimator for (82 +1) B L

fa) 1
29. ¥ X, X3, X3.,.., X, 48 a tandom {b) 2
sample from a nermal population
Niu, 1), the statistic fc)"-3
n
t = Y2 fd) 4
R it

is an unbiased estimator of
32 Let X, Xy, X3,.., X, be random

fal n?+1 variables from N8, 8] for 8 > 0, Then
b} p+1 1. & =En§ is.an unbiased estimate

| n
fe] n of 8%, where X = . ¥ X, and

n:
) 2+ r B o
Y (X -x?
Ss Li=]
30. B X, X,, Xy .«wX, be a random %)

sample from a population with density 2. T, isa consistent estimator of 82

1 B
. 8=-g X Hl —
fix B =ge e Which of the above is/are correct?

then the MLE of 8 is given by
=, fa) 1 only
fal X

. B} 2 only
(b} median (X;, X;, X5, .., X,)

fe) mode (X, X5, Xy...., X,) fzi Both 1 and 2

fd) =standard deviation fd) MNeither 1 nor 2

STT-D-DFHH/T2-A B
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33. A normal distribution with unspecified
mean and variance is fitled to the
following frequency distribution :

Class interval Fregquency
10:5=20-5 3
20-5-30-5 5
30-5-40)-5 12

I 40-5-50-5 25
S0-53-60-5 23
a0-5-T0'6 15
T0-5-BO-5
B0 5-90-5 2

What are the degrees af freedom for
the correspanding chissquare test of
goodness of fit?

fa) 3
fb) 4
fe) 5

(d) 6

34. The estimateof A _jor ‘the exponential
distribution f(x; X)= he Mfor 0 <'xl 4
by the method of moments is

ja) x
b L

fcb x

fd) =

STT-D-DFHH/72-A 9

35. Let F be the probability that a coin will

fall head in a single toss in order to test
the hypothesis H,:p =ﬁ against

Hy:p=32 The coin is tossed 5 times

and Hy is rejected if more than three
heads are cobtained. The probability of
tvpe-l error is

fei) %
() %
o
s

36. If x= lis the critical region for testing

Hy:B=1 against the alternative
Hy:8+2 on the basis of single
observation fram the population
FU, 0 = 0™ “goex <, then the

values of type-l and type-II errors will
be respectively

{1} Ll, \

£ 22

[FiT. G,
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37. Let x;, x5, X3...., X, be a random 39, For testing the hypothesiz Hy:f8=08;,
sample from & normal population against the salternative H;:80=8,,
Nig, 1. It iz desired to test the o and f are the probabilities of type-I
null hypothesis H,:8=8; against and type-Il errors respectively. Under
Hy 8 =H8;,([8; =8, Let a test reject Hy, the SPRT criteria, the wvalues of

":'n +8, the constants A and B (B< A) are
when x = = e If o and f are the respectively
type-l and tvpe-Il error probabilities of
this test, then o ]

) =y
l-a” 1-p
fa] =8
(b} oa=p
1= i
fc) o >p RS 1%
fd) w+B>1
P A%
38. Consider the ollowing statements ! 1-4 @
Statement 3
UMVU estimator is always unique, if it
cxists. 1= i
Statement II : o A

UMVU estimator is provided by
CR lower bound only.

Which one of the fallowing is correct in
respect of the abave statements?
40. & test in which decision about H, is
{a) Both Statemecnt | and Statement II taken after each successive observation
are true and Statement II is the s known as
correct explanation of Statement [

{bj Both Statement | and Statement Il [Qlatyes” teat

are true but Statement II is not the
correct explanation of Statement | (b) likelihood ratio test

fc/ Statement |l is true but Statement I
is false fc}] sequential probability ratio test

fd) Statement I is false but Statement II
is true fd} Student’s ratio test

STT-D-DFHH/T72-A 10

10
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41. Let there be a population having p.d.f. 43. Regarding optimum properties of MLE
under some regulatory conditions, we
can say that

- fa=08] .
& o BSx e
.Ir:xr H'=

0 otherwise 1. the Ilikelihood equation has a

solution which converges in
probability to true value 8,
The maximum likelihood estimator of &

based on a random sample of size nis 2. a consistent solution of likelihood

ecquation does not correspond to

the maximum of the likelihood
fa} largest sample observation
3. the likelihood equation has one and

only one consaistent solution

(b} smallest sample observation
Which of the above are correct?

fe) sample median
fa) 1 and 2 only

{d} sample mode fb) 2 and 3 only

fei 1 and 3 only

42. If a sufficient statistic ¢ for & exists, then {e) 1,2 and 3
1.  MLE will be a funetion of sufficient
statilitic it ib Bihue 44, Let x;, X5, X3, .y, be a random
sample of size n from a distribution with
p.d.f.

2. it will have the invariance property

3. oit) willibe MLE Yor o), Brovideds fix. O ¥ [Dexcm, 850

is a continuowus function of 8
The maximum likelhhood estimate of the

Which of the above are eorrect? median of the distribution is given by
fa)
fa} 1 and 2 only OBe
log, 2
fb) 2 and 3 only (&) *__,Ef"
fej 1 and 3 pnly fc) Xlog.2
fefl 1, 2 and 3 fd) log,.2
STT-D-DFHH/ST2-A 11 | P.T.0O,
11
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#45. The arca of critical region depends on the

ja) size of type-] error
fb) size of type-Il error
fe)  walue of statistic

{d) number of observations

46. Let X,, X; be independently  and
identically distributed Poisson vanables
with parameter 8, Then X, +2Xg s

fa) sufficient statistic for B
(b) not sufficient statistic for 8
fej minimal sufficient statistic for

fd) complete sufficient statistic for 8

47. Let X, Xy, Xg, .., Xa be independently
and identigally distributed = random
variables from a distribution with

J[ﬁ*ﬂr‘; Dox<l, @0
0 : otherwise

[ lx, 8)

Which of the following statements
are correct for parameter 8 of the
distribution?

1. The method of moments estimate of
8 is given by ?]x—__] , where ¥ is the
. 3

sample mean,

STT-D-DFHH/72-A

2. The estimate of % ohtained by the

method of moments is

; where

H is the sample harmonic mean.

%, The maximum likelihood estimats

of Bis - [—1+]nEG

log G

spmple geomelric mean.

], where O is the

Select the correct answer using the code
given below.

(a) 1 and 2 only
{b) 2 and 2 enly
fe) 1and 3 onmly
fd} 1, 2and 3
48. Regularity conditions of Cramer-Rao
inequality aré- related to
fa) integrability of functions
(b differentiability of functions

fe) both integrability and differen-
tability of functions

{d} mneither integrability nor differen-
tiability of functions

www.examrace.com
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49, The decision critenia in SPRET depend on
the lunctions of

fa)  type-l error

{bl  type-Il error

fe) beth type-I and type-Il errors

{dl neither type-l nar type=Il arrar

50. For testing Hp:fi=bg against the
alternative H, :@=28,, based on a
single randem observation y from the
population with p.d.f.

fix. 8= ﬂe'e"; >0, O0<x<ee

the critical region for the hypothesis je

y= ﬁ?— Then type-I error and type-ll
o

error respectively will be

fa) e ® and e *
B e * and e *
fe} e * and e

fd) e * and e ®

STT-D-DFHH/T2-A 13

13

B1. Let x, x5, X3, ..., X be a random

sample from the population with p.d.f.

f{x.ﬂ]:&xg'l‘, Dcx<]1 8>0

Which one of the following is correct?

n
fa) % =Hrl is sufficient estimator
i=1

for 6

n
fb) t;=]]=x; is not sufficient estimalor
=l
for &

n

fc) 1= Y x o is sufficient estunator
it=1
for &

jd) There does not exist any sufficient
estimator for 8

82 Let X, X5, Xj) 65X, be iid. U(O, 8

variates. Let
Y =mt'x}l Xgr Xﬁo---r l'&'-I'l)

Then o the  tnbiased estimator of
(38 + 58°) is given by

fa) n+I¥° +n+ 5>

m[

el 3n+3HY? +5m+575

@ 5[ s[5

[P.T. O,

www.examrace.com



CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 9496817167 Email: cmscsirnet@gmail.com, www.cmsnetiss.com

53. Let X be a random wvariable following

binomial distribution with parameters
n=10 and p. Supposc x is & sample
value of size 1. The test is that if x < 3,
then reject Hp:p=L1 and accept

Hy:p= .Ji The size of the critical region

is

@
(b) fq
€ o
@ —

let X have a pdf of the form
fix,=0x®1" Decx<l To test
Hg:8=1 against the alternative
Hy:B=2 we use a random sample
X, X, of size n=2 and define the
critical region
= {[x b ’ -—3— 2 X
\ et €

The size of the type-l error 15
[Given, In{0-75)=-03]

fa) 0:-01

fb) 0-025

fc) 0-05

fd] -1

STT-D-DFHH/T2-A

14

14

55. A random variable takes the values 1, 2

and 3 with probabilities 82, 208(1-4)
and (1-8° respectively with O0<8< 1.
However the observed frequencies of
I, 2 and 3 are m, n; and n,
respectively. The maximum likelihood
estimator of 8 is given by

EJ'!] = i"l2

fa) 2{115 + Ny +Ts}

o e I s e

ﬂ]"z

fe) —M—5—
2(ry # ng + ng)

e
@ Iy + ng +ny)

56. LetX,, X,, X3,.., X,, be iid. random

variables from N, o

of k for which

L Then the value

Lo, (X) = BTIX) - Xol 2+ (X5 - X,4)2
Foi¥ (Xopn 1 — Xon 1

is an unbiased estimator of o~ is given

by

()

by d
T
@ L

) =

www.examrace.com
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57. Let T be MVU estimator of g{8). Let T} and

Ty be unbiased estimators of g[8) with
efficitencies e, =04 and e,=0-9
respectively, Let p be the correlation
cocfficient between T, and T, whose
values lie in the initerval

fa) 0.335<p<0. 825

fb) 0.-345<p<0-835

fe) D-3552p=<0-845

{d) 0-365<p<0 855

58. IIT, and T, be unbiased estimators of g{f)

with variances t".rig =1 and ::rg =4 and

Corr (T, Ta) =1, then the values of W
and W, for which T= WT + W,T, is

BLUE for g(8) are respectively

i § 1
2 AR 2
fa) R

(4]
L

{b) - and

fcj — and —

s
= |

fed} and

STT-D-DFHH/T2-A
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59. Which of the following statements is/are

correct?

1. Cramer-Rao inequality pives an
upper bound for the variance of an
unbiased statistic,

2. Rao-Blaclkwellization means condi-
tioning on & sufficient statistic to
reduce variance.

Select the correct answer using the code
giveri below.

fa) 1 only
fh) 2 only
f¢) Both 1 and 2

fd) Neither 1 non 2

60. Consider the following statements ;

1. Ii T, is consistent for 8, then for
any function f, f{T,) is consistent

for J (@)

2. Method of moments
consistent estimators.

gives

Which of the above statements is/are
correct?

fal 1 only
b) 2 only
{c Boith 1 and 2

{d} Neither 1 nor 2

[ P. T. O.
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61. Consider the testing problem for NiB, 1): 63. Let X be a binomigl random variable with
parameters noand 8. Let
v Hp:8=18 s HoiB=B
5 o p V8. Hy:H=H, ¥ .-
s
1 =
n (&) s

Fa : Hp:8=8, vs, H 828,
Then consider the following statements :

The UMF level o test exists 1. t,{X) is biased estimator of 8,

2. t,(X) is consistent estimator of 8.

fa) for P, but not for P,
Which. of the above starements isjare

(b) for P; but not for P, correct?
(¢} for both P and P, fa) .1 only
b} 2 onlv

(d) neither for B wor for P,
f¢j Both 1 and 2

{d) Neither 1 nor:2

-
2z
Sy
chi-square variates with 2 and 6 degrees

be two independent

64. A sample is drawn from the population

of freedam respectively. An unbiaged ge |
9 f{.t‘: e, ﬂ) = —i—gx“" Eﬂﬁx , x=0
estimator of *!2- is ‘given by
L s :
4 and the values ef first and second order
sample « moments about origin are
X 10 and 1SC respectively. Then the
fe) s :
galimators-of @ and [ obtained by
method of moments are
(b X fa) &=2 and f - %
v 5
b & = 1 and f5= 5
@ = :
¥ _
fe}) @=2 and B=5
4X gL 5
{d) — dl = and -
¥ I' 2 g 5
STT-D-DFHH/T2-A 16

16

www.examrace.com




CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 9496817167 Email: cmscsirnet@gmail.com, www.cmsnetiss.com

65. Consider the following statements :
Statement 1 :
SPRT sometimes provides a decision.
Statement II :
Probability of terminating SPRT is one.

Which one of the following is correct in
respect of the above statements?

faj Both Statement I and Statement 11

are true and Statement Il is the
correct explanation of Btatement |

(b) Both Statement I and Statement I
are true but Statement 1l isnot the
correct explanation of Statement |

fe) Statement I i8 true but Statement [l
is false

(dl Statement lis false but Statement Il
18 true
66. Consider the following statements

1. Indian ~ Statistical System  is
decentralized by federal strueture
as also by subjects,

2. State Btatistical System  is
centralized.

3. Stanstical coordination is done by
CS50.

Which of the above statements are
carrect?

fal 1 and 2 only
b} 2 and 3 only
fe} 1 and 3 only

(dl 1,2 and 3

STT-D-DFHH/T2-A
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67. Consider the following statements ;

1.

National Statistical Commission
has the responsibility of statistical
audit,

NS8O collects data by sample
surveys.

Censuses are conducted by RGI
only.

Which of the above statements are
COTTEEL?

@ 1 and 2 enly

b} 2 and 3 only

fc

1 and 3 only

fd) 1,2 and 3

6B. Indian Statistical System is supported by
which legislative framework?

1,

2.

3.

The Collection of Statistics Act,
2008

The Registration of Births and
Deaths Aet, 1969

The Censzus Act, 1048

Select the eorrect answer using the code
given below.

fal
ibl
)

1 and 2 only
2 and 3 only

1 and 3 only

(d} 1,2 and 3

[P. T, O,
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69. Consider the following : T1. Agriculture Census data is collected in

Land Records States throu
l. MNational Family Health Survey— o

Ministry of Hralth And 1. complete enumeration of units
Family Welfare
5 Sl RegEtrton: Syabem— 2.  EKhasra registers retabulation

Registrar General and Census

Coinmisstaniee of. Tl 3. sampling technigues

3, Consumer Expenditure Survey— Which of the above is/are correct?
Naticnal Sample Survey Office

Which of the above age correcuy

matched? (a) 1 only
fa) 1 and 2 onlf Phgg nly
(b) 2 and 3/nly () 1 ana 2
fe) 1 and 3 only fe) 1 a8 3

{d) 1,2 and 3

70. Which of the following isfare the 72. Which one of the following is correct in
publication/publications  of National respect of Grogss Enrolment Ratio (GER)
Accounts | Divisiot of €S0C in  the in Grade-1?

MOSPI?

1. National Adcounts) Statistics gy " oial rades” ggrolment _ 100

Population of age 6 years
2.  Input-Output Transactions Table

3. Economic Census | i
) GER = N ey m_t._rﬁnts in Grade-I « 100
Population of age 6 years

Select the correct answer using the code
given below.

New entrants of

faj 1 only f¢) GER = age O years in Grade-1 <100
@ 1 and 2 Population of age 6 years
l and 3
e e {d) GER = Total Grade—1 enrolment « 1000
(d) 2 and 3 Population of age & years
STT-D-DFHH/T2-A 18
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73, The referénce period in employment/ T5. The Agriculture Census in India is
unemployment surveys by NESO is conducted
1. one vear

fa} annual basis
2. btwo weeks

{b) guinquennial basis

3. ecach day of reference week

4. one week fc) decadal basis

Which of the above isfare corrent? fell aek hoc Lasis

fa) 1, 2 and./3 76. Consider the following :

() 1,3 and 4 . The Prevention of Food

Adulteration Act, 1954

fe) 1 only 2. The Medical- Termination of
Pregnancy Act, 1971
fdj 3 only
3. The Food Safety and Standards
Act, 2006

T4. Which one of the following equations is _
valid? Which of the -above comes/come under
the jurisdiction of MOHFW 2

fa) Promotion rate + Repetition
rate * Dropout rate = 100

(a) 2 only
{h) Promaotion rate + Repetition

rate - Dropout rate = 100
B} 1 and 3 only

(c} Promotion rate — Repetition
rate + Dropout rate = 100 e} 1 and 2 only

{dl Mone of the above ({d) 1,2 and 3

STT-D-DFHH{T2-A 19 [P.T. ©.
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T7. Bample registration for collecting vital
statistics is

faj a fixed panel survey

fb) a cross-sectional survey

fcj both f[ixed panel survey and cross-
sectional survey

{dj neither fixed panel survey nor
cross-sectional survey

78. If the price index for the year 2015 ia
110. 3 and the price index for the year
2005 is 98:49, then what is  the
purchasing power of money (in ¥ of
2005 compared: te 20157

fa) 1-12

fb) 1-25

fe} 1-35

fd) ©-89

STT-D-DFHH/T2-A
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T9. Consumer price index numbers reveal
the state of

fa}

{b}

fc)

i)

80. The

inflation

deflation

both inflation and deflation

neither inflation nor deflation

following table gives the frequency

distribution of number of live bhirths

born t0 women in the age group
15-45 years !

2 | 121 | e oo
15-19 20000 600 |
20-24 18000 1200
25-249 14000 BOO
30-45 a000 a4

The value of General Fertility Rate (GFR)

based on the @bove data is
(a) 44933
fb) B9.866
fe) 449.33

(d} 89866

www.examrace.com



CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 9496817167 Email: cmscsirnet@gmail.com, www.cmsnetiss.com

BPACE FOR ROUGH WORK

STT-D-DFHH/72-A 21 | P T

21

www.examrace.com



CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 9496817167 Email: cmscsirnet@gmail.com, www.cmsnetiss.com

zz V-ZL/HHAG-G-LLS

22

www.examrace.com



—_ oy
CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 9496817167 Email: cmscsirnet@gmail.com, www.cmsnetiss.com

SPACE FOR ROUGH WORK

STT-D-DFHH/f T2-A 23 | B

23

www.examrace.com



CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 9496817167 Email: cmscsirnet@gmail.com, www.cmsnetiss.com

SPACE FOR ROUGH WORK

BTT-D-DFHH/TZ-A 24 TBS—12150

24

www.examrace.com




povadaBT REGPR MAL S S STICS TRIVANDRUM————
ne: (8113887324 G1HAR12467 & necsitHal@gmai otiss.
Series: A Subject .. 'STAT PAP|Il (THO)
Max. marks 200|No. of Items dropped: | 01 11
[tems to be taken for scoring: 79
1 D- |16 | X |31 | B.|46 | B [ 61| A [ 76| D
2 AN 17| C.| 3IRCEE4TRD | 62 | B. L7 R A
3 D.|18| D | 33| A | 48| B | 63| C |78 | A
4 C|19]| A[34| B |49 | C | 64| A | 79| C
5 A2 A|]35]| A |50 C |65 D [8 A
6 Dy 21| c |3 | D |51 A |66 D[ -7
L B.]'22| D 37| B-|'52 |pD.J 67 | A N LN
8 A | 23 TC.] 38| C.| 83| D.| 68 | 8O M )
9 B.[24| B.|]39| Bi| 541 B.-1]694 D},id]| )
10 ClL2s| D[40 C |65 B|70| B 5]
11 B.| 2| D:{/41 | Bi[066. 1. B- 471 {~B. |0 ;| /|
12 Cat 27w 1 421 D.| 57 L4 B AMN ! M
13 C+ 28| B143 | C+| 68| A | 73| B | ¢ o
14 Al29| Al4a| c 89| D74 AT |
15 D |30, B {45 |"A 60 B4J75| B | ¢ J
DOWNLOADED FROM : WWW.IASEXAMPORTAL.COM Courtesy:ISSE



wNLoapEE RGN EQRMALEEMAHIES & SIATISTICS TRIVANDRUM
DO E

i i tiss.cor
°h 8113887329, 9496817167 . Email: emscsirnet@gmail.com, www.cmsne
one: :

Examination: ISS EXAM- 2017 |
- /|Series B | !Subject STATRAPISTL |Gredo)
Max. marks | 200]No. of items dropped: .| 01

[ Iitems to be taken for scoring: 79

e
1 BI116 ] D317 b]4e D61 A[76 B

N B CSN17 | C:| 32NN |, 62| D[ 77| b
3 A1 18] B [33| D 48] A 6| D[ 78] B
4 A TINNE] & »m: 64| B 791 ¢
5 A 120 B35 A 50 A 65| Blao]| c
6 D /21] B3| 0 351 Aul66 | B 54|
7 B.] 22715csI"37 | B [ 52 B 167 | @[5 ]
8 C% 23 | Culussijma BELC 68 [ K | tF I —
9 Bl24a]| A[39[ B 52 A "0 DN
10 €125/ D40 ¢c 551D W BEVET
11 C 126 X 4T [ BT 15 M GB e —
12 9. [\27) cCTaal A (&7 Al72N08 r ]
13 CW28 (D [43] B |88 p 73 & i T°
14 B129| A4 [TA T35 D-L##] Cc | =[5
15 D.] 30| Aa45 Bo6 S04 B[ 75 A T~ Ny

DOWNLOADED FROM :

WWW . IASEXAMPORTAL . COM

Courtesy:ISSE |



i

powRNTdaER hAT Y ANPRUR
6:-8113884328-¢ 17464 Fmat-cmscesirnet@gmaitc T WV CrisTTet
— |Series C Subject |STAT PAP[IL [(THIO )
Max. marks 200|No. of Items dropped: | 01
Items to be taken for scoring: 79
1 ¢ |/16| D.[31] B 46| D |61 By 76 | 'B
2 pl17| B |322]Cc 47| A|62| A |77 ) C
3 c 18| A[33]Cc|48 | D|63| B |78] A
4 B|19| B |34 Al49| D [64]| A |79 D
5 Dl2o| c 35| D|s0] B[65]| B |8]B
6 D (2| B[3@PX |'G1hB | 66} D § (<= & |
7 G| 220hC A7V C.-| 52 1NDula6” | ALl £27 0
8 Bl 23| A | 38| D[53] Cc |68 | A | &3] " |
9 Al2a| B ]33] A|54] C169|C |+ \ |
10 B [256| A |40 | A |55 AJ70f A |[tA] J |
11 D26 D41 ] A5 B |71 ]| A] 5] )
12 A |27 | Bl 42 | B | 57 | D72 D [f7 ] /\
13 Dol 28| C:-| 43uCui68" B | 73| DI 8’ | A
14 c 20| B-| 44| A7| 59{C |74} B | "3 | L
ks 1A ]30] c |a8T D [B0]C[76] B | | e
FROM :— TITASEXAMPORTAL-COM Courtesy:ISS

AATAT—r— e

e TR T T e g 2



pevasdaENT : : TICS TRIVANDRUM
»nd; 81138873F%9H98H97167 i L@gwcmoneﬁs«-_

- |Series:D Subject |STAT PAPERI( TIWO)

Max. marks 200(No. of ltems dropped: 01
Items o be taken for scoring: 79

1 B |16 | D [31]| C 46| B|e61| B[ 76| D

2 cl17| B |32 D4l cle2|[D[77] A

3 cClli18 | C. [ 33 Chligs | Walhes | CH 78|

4 Al19| B3| B|4 | DJ]e4| Cc[79] D

5 D20 c 35| D5 B[65] A.[80[ B

6 X 1521 | D | 360 D.['S10L B | 68 BE| =+ I*

7 € | 28l A S| C. | 2 nai®7 | OV [T /.
8 D.[ 23| D [38]| B |63 BJ68| B [ ¥ |
3 Ad24a | C |3 AdLSs] Alesc i ]

10 A 125V A |40 8BT55[.B 1700 Cl gt > |
11 B |26 D |41 | A [56} D |7 [ A" 1|
12 JWC.}’27 | Byl 42 | D | 57 | A"| 72 B4 &t ™.
13 A28 | A.[ 43| D |88 A [73]| C | #¢ |

14 B2 | Blaa| B[59[Cl7al A" %]
vummw—mlu—-—w‘ls A 3.0 WWC."IASggAMPgRTALGPCOIuA i \,21:: e-syrlrssr' e :




